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1.

2.

Find the product (x + 2y + 1){x + 2y - 1).

(a) x2 + 4xy + 4y? - 1

can be simplified to

(b) x2 + 4y2 - 1
(¢c) x2 + dxy -1
(d) x2 + dxy - 2x + 4y + 4y2 ~ 1
(e) x2 - 4xy + 2x ~ 4y + 4y2 - 1
X, )
The complex fraction 23
3.2
Y X
6
(@) =
(b) 1
(c) 2L
(d) 3x + 2y
6

31

none of these

The value of the determinant

a) 0
b) 36
(c) -36
(d) 18
(e) -18

1 -3 2
2 -2 6| fs:
3 -1 1
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Algebra I

5. (x~1y0)=2 can pe simplified to:

(d) L
(e) x2

2% - 9 . .
6. If T < 0, then the values which x may be are:

X > -2/3

X< -2/3 or x> 9/2

—
[=a

X < 9/2
(e) x<-2/3 or x=9/?

)
)

(¢) -2/3< x <9/2
)

3. . .
7. X 1 simplifies to

(d) X2 4 x + 1
x + 1

(e) none of these

, 3 _ .
8. The solution set for T -2 is
{a)} {5/16}
(b) {16/5}
5 5
©) {w% -1}
(d) 9

(e) none of these



9.

10.

11.

Algebra I

Mrs. Billings flew her own plane from her home town to a city due east where
she attended a business meeting. After spending six hours in the ¢ity, she
then flew back home. Her plane in still air had a speed of 156 miles per
hour, and the wind blew from the west at 12 miles per hour all day. If 10 1/3
hours elapsed from the time she left her home airport until she returned, how
far was the city from her town?

a 338 miles

(a)

(b) 336 miles
(3) 340 miles
(4) 350 miles
(

5) none of these

equals
X -1
(a) /Q/% 1
(b) X f?i
() &zl
(¢) L1

(e) none of these

If loga2 = .1012 and Tog,3 = 1112, what is Tog,127

(a) .4248
(b) .6070
(c) .4448
(d) .3136
(e) .0011



12.

13.

14,

15.

If 2(x - 5) = 3(2x + 1), then x equals

Y3+ V27 can be simplified and expressed as

(a) 5
(b) -7/4
(c) -1/2
(d) -13/4
(e) none of these
V3 +
V3 - V27
3+ 3/3
(a) 57
(b)Y -39/24
30 + 3V/%
(c) S
(4) v30
V28
(e) -2
4 .-2.10
lgx_1y4§5 simplifies to
X
(a) 8x3y”625
(b) 8x3y6z5
(c) 14x5y~625
5.6
(d) 8xz
yZ
(e) 8x5z5
y6

The graph of the equation x2 + y2 =4 s a

(a
(b

—~

)
)
c)
d)

)

(e

straight line
parabola
circle
eltipse

hyperbola

Algebra I
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E I
16. The expression ﬂ_ﬁwggg_lﬁg. simplies to

(a) 6v52
(b) 12/13
(¢) 14v7"
(dy 2v/1%
(e) none of these

17. If a, b and ¢ belong to the set of real numbers and a < b, then which of the
following is NOT always true?

(a) b>a

(b) ca<ch

(¢) a-b<0

(d} b-a>0

(e} a+c<b+c
1

18, Simplify x - 1.

149
X

SREE

Y

(c) -1

(d) 1

(e) ©

19. The expression (3a - b)2 - (2a + b)2 is equivalent to the factored expression

(a) (a - 2b)5a
) 5aZ - 10ab
) [(3a - b) - (2a +b)7?
(d) 5a2 - 2ab + 2b2
)

none of these



20.

21.

22.

23.

The numerator of a fraction is 7 less than the denominator.
decreased by 2 and the denominator is increased by 3, the value of the fraction

is then 1/3. What is the fraction?
(a) 3/5
(b) 8/15
{c) -1/6
)
)

——

d) 3/10

(e) 1/8

If each a and b represents a real number, which one of the following statements

is always correct?
(a) (a +b)3=ald+p3

) (a + b)(a2 + ab + b2)
(c) (a - b)(a2 + ab + h2)
(d) a2 - p2 (a - b)(a - b)

) a-b=(/a-/b)va - /b)

(b) a3 + p3

il

a3_b3

1]

(e

Evaluate m(n? - p2) when m = 2, n = -4, p = -3,
(a) ~28

(b) 14

{c) 50

(d) 98

(e) 28

Completely factor 2x3 + 2x2 - 312x.
(a) 2x(x + 12)(x - 13)
(b) x(2x + 24)(x - 13)
(c) (2x% + 24x)(x + 13)
(d} (x - 12)(2x2 + 26)
(e) 2x(x - 12)(x + 13)

Algebra I

If the numerator is



24.

25.

26.

27.

The s
(a)
(b)
(c)

(d)

(e)

The solution set for the system of equations

(a)
{b)
(¢)
(d)
(e)

Given
(a)
(b)
{c)
(d)
(e)

If a
(a)
(b)
(c)
(d)
(e)

olution set of |x - 1} < 5 is
{6}

{x|x < 6}

{x|-4 < x < 6}

{x|x < -4 or x > 6}

none of these

4x - 3y
Ix + 2y

i H
anade
w

{(0, -1)1
{(-1, 0)}
{(1, 0)}
{(o, 1)1

none of these

3XtY = 81 and 3*Y = 1/3, then
2/3, ¥
= 2/5, ¥
5/2, ¥
3/2, y

none of these

2/5

it

>
H

8]

2/3
3/2
5/2

>
1

>
i

H
il

X

# b =cmeans ¢ = a’(b + 1), then 4 » 3 is
12

45

63

b

none of these

Algebra 1



Algebra 1

28. (V6 - /3)(V6 + /3) equals
(a) 3
(b) 3v3
(c) 1
(d) 0
{e) none of these

29. The statement "If p, then g." has as its contrapositive
{a) If g, then p
(b) If not p, then not g.
(c) If not g, then not p.
(d) p if and only if q.
(e} If not g, then p.

30. The solution set of x2 - 2x + 1 =0 is
(a) {1}
(b) 11, -1}
(¢} {-1}
(d) {1, -i}

{e) none of these

31. Factor x2y2 - x3y3 + xy completely.

(a
{b

xy{xy - x2y2 + 1)
x(xy2 - x2y3 + y)

(d
(e

)
)
(¢} y(x8y - x3y2 + x)
) 0
)

x2y2(1 - xy) + 1
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32. If s = g(a +4), then a is equal to

(a) & - 4
25 - A
(b) _J%Tm“_
(C) in~ 2s
(d) 2s - nk

(e) none of these

33. Simplify 2x(x + (3x - 1) - 2(x - 1)) + 2.
(a) x% +2x + 1
(b) 2(2x2 + x + 1)
(¢) 4x2 + 2x + 1
(d) 2(3x3 - 3x2 + 4x + 2)
(e) 4x2 + 6

34. If x < 0, then |x| is
(a) x
(b) -x
(c) ©
(d) undefined

(e} none of these

35, The solution set for |x - 1] €0 s

(a) {x|x =1}
(b} {x|x z 1}
(c) {x]x =1}
(d) o

(e) {x]-1 £x =1}

10



36,

37.

38.

39.

Algebra I

Completely factor x5 - 2x% - 2x + 1.

(a) (x + 1)(x% - x + 2)
(b) (x + 1)(x% - x - 2)
(c) x2(x - 2) - 1(2x - 1)
(d) (x + 1)%(x - 2)

(e) (x + 1)(xZ - 3x + 1)

The solution set for x4 + 5x2 -3 =0 is
{(a
(b

) 16, -6, 21 Y10, -2i/10}

)
(¢} {2, -2i, 3, -3}

)

)

{61, -6i, 21/10, -2i/10}

d

—

{31, -31, 2, -2}

none of these

3
———"—“E“E may be simplified and expressed as
3 5

(a) 5x - 3y

) R
(b) SRR

15
©) sy

(d) 5x + 3y
15

(e) none of these

A(2, 4) and B(-1, 2) are two points in the coordinate plane. The slope of the
Tine that contains A and B is

) 3/2

) 2/3
c) 2

) 1/2

)

none of these 11
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40, If h = %1;t2, then t is equal to
2h
(a) 5{

g

(b) ﬂ/2h
(c) [2h
g

2h
dy - [}
(d) -/ a

(e} both {c) and (d)

12



